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The question paper is divided into two parts — Part-A -B.

Part-A and Part-B are divided into three Sub-Sections — (1), (2) and

(3).
In Part-A of the question papet, there are multiple choice questions in
which select the correct alternative and then by a blue or black ball
point pen, fill completely in the circle in OMR Answer Sheet. Do not
erase, cut or use whitener on the OMR Answer Sheet after answering.
1 mark is allotted for each question in the multiple choice question of
Part-A.
Part-B has descriptive questions.
The allotted marks are given in each question.
All the questions of Sub-Sections of Part-B are to be attempted all at a
time. Start each Sub-Section from a new page. |
All the questions are compulsory.
Qg - N
- PART - A
( Tgfemedta we ) |
( Multiple Choice Type Questions )
AT - (1)
Sub-Section - (1)

%ﬁaﬁmmwwuﬁlﬁmwﬁ%maﬁwmaﬁmﬁaﬁ

H @A B 2

(A) BRI % (C) W

(B) Thdl % ( C) AR Hid fag ( F)émﬁzrﬁ

(©) T ¥ (P) R

(D) JUUT % ¥ ( P) R By fag (F) & S A 1
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1. To have-a.reak.and etﬂarged image of an object by a concave mirror, the

POSlm!{}rgbf the object should be
(A) “At.the centre of curvature (C)
(B) In between centre of curvature ( C) and the focal point ( F)

(C) At the pole ( P) of the mirror

(D) In between pole ( P) and the focal point ( F) of the mirror 1
0. et off oW W1 &7 Y ghrS alelt
(A) e (B) W e |
(C) HRX uid s : (D) T ¥ HIE Tl 1
2. The unit of the power of the lens is
'(A) metre (B) per metre
(C) metre per second (D) none of these 1

3. UH Hd WERI R0 S R ® & B from @ TR & a9 IEH TN A
3TATT- 3TN THEITOT BT & | Qo 3ty famer fohg O7 & o @ 2

(A) el B) dem
(C) & (D) S | 1
3. When a beam of white light falls on the surface of a triangular prism of

glass it splits, after emerging out from the prism, into various colours

with different deviations. Which colour has maximum deviation ?

(A) Red (B) Yellow

(C) Green (D)  Violet 1
4. & AaT weAd e @

(A) TIR F HEH G (B) TARH Ud AR & W

(C) TN & FHY (D) AR & FH AR’ 1
4. The sun appears whitish ‘ 7

(A) much before sunrise (B) at the sunrise and sunset

(C) atnoon - ; (D) much after sunset 1
5. ﬁFﬁTﬁﬁxf%naa;aﬂuﬁnﬁqﬁnﬂ%ﬁtﬁfﬁﬂﬁﬂ;aﬁiqrf#ﬁr=@?aﬂar?

(A) T Y oIS (B o ¥ qered 7 e

(C) e &N AW HIE (D) T T SATHR 1
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5. On which of the following does the resistance of an electrical conductor

not depend ? ;

(A) Length of the conductor

(B) Density of the material of conductor

(C) The cross-section of the conductor

(D) The shape of the conductor )
6. e TR fIA wcTRt s gumEe a9 ST ANOTH SRty = 22

() TR TR e (ad F) # e

(B) HHI =t SN i ¥ e I

(©) _Waﬁﬁvﬁmﬁwahﬁm'mﬁsﬁ@m

(D) = ! U T H o7 A It B AR FH | ALl S 1

6. In which combination the four resistors be connected to have minimum

resultant resistance ?

(A) -All of the resistors in parallel combination

(B) All of the resistors in series combination -

(C) One in series with the parallel combination of other three

(D) Two resistors in series with the parallel combination of other two 1
7. U fogq YNEE 96 % RO 39T TEHIT 87 F BRI T w9 $ o

frfcfed = € food = =t wegar o € 2

(A) AT % T F™ T fEm (B) Wi & w1 &1y = foygm

(C) e 8Ty & IS &1 Fram (D) 3% & v 1

7. One needs the help of which of the following rules to know the direction
of the magnetic ﬁeld produced due to a current carrying conductor ?
(A) Fleming's right hand rule (B)  Fleming's left hand rule
(C) Right hand thumb rule (D) Ohm's law \ 1
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8.
(A) Al (B) @
(€) uieRmEH | (D) CeHif !
8. Which of the following metals produces hydrogen gas with cold water ?
(A) Copper (B) Gold
(C) Potassium (D) Aluminium 1
9. frfefed & & tenA §
(A) HC =CH () H,C=CH,
(C) CH,-CH,-CH, (D) CH;-C=CH 1
9. The alkene in the following is
(A) HC = CH | (8) H,C=CH,
| (©) CH,-CH,-CH, - (D) CH,-C=CH 1
10, U T ot ferema @ e a3 8 THH pH A T9E 3
A 1 | ® 3 '
© 6 I D) 8 1

10. A solution turns red litmus into blue. The possible pH value of this

solution is

A) 1 - (B) 3
€ 6 (D)
11, FRIA &% 0] T S 9T 71l 8
(A) TEE ey (B) UH WeHAS Ty
C) f&-vewash sy (D) F-wEEa sEwy
11.  The bond present in chldrine molecules is
(A) Ionic bond (B)  One covalent bond
(C)  Double covalent bond (D)  Triple covalent bond
02000/34 |
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12, ST o SRl s o S T Y

(A) ST e (B)  sifehrr gy

© Rresd (D) Toréores wpf 1
12, Useful substance in making waler bacteria free ig

(A)  Washing soda (B)  Baking soda

(C) Alum (D) Bleaching powder 1
13 o srtwiwatt & syt & folwa & T2 2t @ §, 3% oy o &

(A)  wieemeT sl (B) 3I9F ayqges

(C) arTeweh a7Rafipar (D) fogem 1
13. The reactions in which new compounds are formed by exchange of ions,

are called .

(A)  Substitution reactions (B) Double decomposition

(C) Addition reactions . (D) Dissociation 1

STHTT - (3)
Sub-Section - (3)

14, URY H ST T H e

(A) STeT &7 989 (B) WISH &7 &

(C) 3T 377t T ag (D)  HENH &7 98
14. The function of xylem in plant is

(A)  conduction of water (B) ti‘anslocation of food

(C) translocation of amino acid (D) translocation of oxygen
15.

FTARTE 3 5l e v 4 et 3 3 i - o
(A) TR B) W=

(€) "= (D) W&
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15. In which of the following plants did Mendel perform his experiments on
inheritance ?
(A) Tomato (B)  Brinjal
(C) Pea (D)  Mustard 1
l6. Frefeifaa i @ @ wE A AT S 3 90 A g7
(A) STUSRT B) T
(C) e (D) fem afeeh 1
16. Which is not a part of the female genital system in human from the
following ?
(A) Ovary (B) Uterus
(C) Vas deferens (D) Fallopian tube 1
17. Ui 9N & U SYevasd §
(A) THET SRIATIRES TN A (B) FARITHe
(C) T & TFW (D) T e 1
17. The autotrophic mode of nutrition requires
(A) Carbon dioxide & water (B) Chlorophyll
(C) Sunlight (D)  All of these 1
18,  WHSIA 3T HT WX &
(A) BRI BTY AT H ok YR (B) ®HR I T &l & ]
- (C) ELUd U & SURERI (D) 38 ¥ &t 1
18. The examples of homologous organs are
(A) Our hands and forearms of the dogs
(B) Our teeth and teeth of elephant
(C) Runner of potato and grass
(D) All of these ‘ 1
02000/34 ‘ [ Turn over
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19.

19.

afTe ST el &1 giefl &

(A) el @) A

() wrifgE (D) el o
ual reproduction takes place through budding in

AsexX
(B) Yecast

(A) Amocba

(C) Plasmodium (D)  Leishmania i
TR SROEE o e fe (2
(A) R (B) =i
() wves (D) HFA !
Who proposed Natural Selection Theory ?
(A) Lamarck (B) Darwin
(C) Mendel (D) Morgan 1
qug -
PART - B
( AUHATHE UIT )
( Descriptive Questions )
STHTT - (1)

Sub-Section - (1)

ocation and e
; Position of a vehjcle which is at 4
seen in metre behind the bike as

the mj
mirror. Also explain by the ray diagram
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frere 3f% SN @ difeq ww =i sl  afires 100 W2 B <t 7 # 2w

| AT HINT W@ g & R sl et g0 TF AW g % o 39 G
sepfer T R I 331 % ol 1 S s /| RO s ot a2+ 2

A person suffering from short-sightedness can see up to 100 metre.
Calculate the nature and the focal length of the lens in order to correct

this defect so that he can see objects at infinity hence correct vision. Also

draw the ray diagram. 1 2+ 2
S & frm w0 ¥ 2w s, Wafyg fagd OROT TR Fife ) 98 of @
fF T Tora oo 1 ey foa-fonmy ol @@ Pl e & 2+2

What is Ohm's law ? Explain by drawing the associated circuit diagram.

Also discuss the terms on which the resistance of an electrical conductor

depends.' o - 2+2
@ﬁaﬁﬁawwﬁwﬁmw%?mﬁrMQémﬁfamﬁﬁw
e @t F) i | 1+2+2+1

ittt foega wry S &7 SRR fag = ¢ 2 FEht T Td HEfEy S
AR TUA I | P 1+2+2+1

What is the working principle of an electrical motor ? Describe clearly its :

construction and working method with the help of a diagram.
1+2+2+1
OR

What is the working principle of an alternating current generator ?

Describe its construction and working method with the help of a

diagram. 1+2+2+1

02000/34 [ Turn over
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JAUTT - (2)
Sub-Section - (2)

5. Fraffan A ge b HI [+ 1+1+1
(a) S
(b)  2-AfeT Juesigs ol
(€
(d) 2-HfUeT FRA-2
5. Write the structural formulae of the following compounds : 1+ 1+ 1+1

(a) Propanal

(b)  2-methyl pentanoic acid

(o) Propene

(d)  2-methyl butanol-2

Na, Mg @97 Al & dc €, 8 GgSTohdT ToegHl &l §@T A T, &1 a9l

6.
T &1 5 () fergent A froar sifyhae € 2 (@) HF TS99 SF AR
£ ? e & foTw sRor giga 3w i 2+ 2
6. Na, Mg and Al are the elements in which the numbers of valence

electrons are one, two and three respectively. (a) Which of these elements

has the maximum atomic radius ? (b) Which of these elements is the

least reactive ? Answer each with the reason. 2+ 9

7. frefofan bt 3 s & o SR TR S e

l+1+14+1+1+1
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e
fr=feafea w feuf fafed : 2+2+72
(@) Togis affswar
| (b) IR
| (c) 9] 9 |

7. Write the balanced chemical equation for each of the following
reactions : ! l1+1+1+1+1+1
(a) Plaster of Paris + .......... —» Gypsum.

(b) Hydrogen + Chlorine — .........

(c) Zinc carbonate — Zinc oxide + ..........

(d) Magnesium + ......... — Magnesium chloride + Hydrogen
()  Barium chloride + Sulphuric acid - .......... + Hydrochloric acid
(f) Silver nitrate + Sodium iodide — PR q;?'s;?dium nitrate.
OR '
Write notes on the following : 2+2+2
(a) Dissociation reaction
(b) Corrosion
(c) Galvanization.
JTHET - (3)
Sub-Section - (3) | |
8 dvee ¥ e E 2 S St fel @ e 2 B5
8. What are Mendel's laws ? Explain them with suitable diagrams. 2+ 92
9, Wﬁﬁwmﬁmﬁmaﬂﬁ%@mﬁmmwwmm
l we gu HIT | - | 2+ 2
' 9. Draw a labelled diagram of longitudinal section ( L.S.) of gynoecium to
show the fertilization in flowers and describe it. 2+ 2
[ Turn over
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10. o TREWT 4 aervys € 2 A0 Bl 4
10.  Why is conservation of forest Necessary ? Explain, .2
11.  gehIv] (W)ﬁmmwﬁ%ﬂrwma&m, 343
A :
HITE & WIS o i AT o SIS q© S uf 5y grenes | 3+3
11. Explain the structure of Nephron and mechanism of its working. 3+3
OR .
braw a lébelled diagram of human digestive system and explain the :

digestive process. 3+3
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